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(‘ What is the slope ofthe line passing through (-5,-1) and (-2,-1)?

A) ‘-31 B 2 O o D) undefined
(zevo in (Zero N
Aumerotor ) denominotor )
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2)  What are the coordinates of the midpoint of the line segment whose endpoints are (-5,-2) and (-3,-8)?

A) (-8-10) B} (-1,3) Q) (-5-4) D 45 -

(%2 %)
) (4:5)

G AB is the diameter of the circle shown in-the accompanying diagram.
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clpo ¥
What are the coordinates of the center ofthis circle? :
A) (4-2) B) (35 @ -3 ' D) (-2,4)

%) (53)

4} What s the slope of a line that is perpendicular to the line whose equation is 2x - vy =77
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IfM(-2,5, is the midpoint of AB and the coordi e of
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Show that the line joining A(-4,-1) and B(3,1)

m--1-1_-2

‘

ux -7

Line b ¢ontains thje poimnts (8,-2) and (5,3).

(a) Thzslopeofalne parallelto b is 2,

(b) Thzslope ofa line perpendicularto b is .

- -2-2."2
&5 D

Determine the sldpe (m) and the y-intercept (
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Y

A are (4,7), find the coordinates of B.

arzlle] to the line joining C(4,4) and D(-3,2).
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> line 2y +4=x.
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)  Write an equation of the line whose slope and y-intercept are 2 and 4 respectively.

¢ \=2x+H

0) Write an equation of the line whose slope is ‘; and that passes through the point (6,4).
- Mx-X,)
V-4 £ (k- 6)

1) Write an equation of'the line that passes through the points (2,1) and (6,3).

VlE3(-2)  or -2 F(-6)

2)  Write an equation of'the line that is parallel to y = 3x - 5 and that passes through the point (1,6).

o \/-—bré(x~l)

?)  Write an equation of'the line perpendicular to the line y = %x -2 and passes through (-4,-7).

e
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14) Classify the graphzs ofy =@x ~landy {%} +1 ;i parallel, perpendicular, or neither.

Neither

15) Classify the graphs ofZx+y=7Tandy {E} + 1§ warallel, perpendicular, or neither.

X 2%

YOM

p@/p@rﬁicul GV

16) Classify the graphs ofy :@: +8andy-2x= s »argllel, perpendicular, or neither.

2K Ly

Y:Q 47D

paralle |

17) Write an equatioﬁ ofthe line that is the perp  dizular bisector of the line segment having endpoints of (-4,-2) and (8.4).

m-24.7 L
48 12 2
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